202120225 — LR ER D H LB AR EXE CLHEHM T BILF )

1.
BAEAA={ ¥[Tl<x<2, B={x|25x<0}, ManB= ()
A x[-l<x<0} B {.n.'| 2x<2) o {x|2<x<2} p {x|x<-2.8 vz2)Y

2. IRFER
RS ) =1eGx-D e AN ()

Lo

1
—0, sl — 0
A.RB.( 3C.3 )D.(? )

3. PR

MBEREH O HEREEECYD) U mEET O
1 1

A6 B.2 C.16 D.2

4. BB
76 OD py B R B2 (O

AR
-
|

AY="V g y=-x+2x+l ¢ y=log,x p |

| =

5. PR

R RER Sy = o Pt g AR R =1, @S A ACLD, W O)
A.a=2, b=4B.a=2, b=—4 Cia=—2, b=4D.,a=—2, b=—4

6. LM
EI%I_T:I:—4.1'-—1_;(6[1,5] B{J{Eﬁ% )
A6 B (38, C 1360 p [3.4%)

7. B

WgE =5 (a>0 HARDY, W O
1
?=|.FJ

log,

A Elogﬂ.!:':lB_
log,a=b log, b=a

C. 3 D. 3

8. IEFEE

E/\ﬁa=lmg30?’ b=03" f=3“|§]<Jj(/J\9%,%ﬂy )

Ada<b<c B b=a<ec Ca<c<b D b<c<a
9. PR

S =4 7
_& log,

CF D=2 RNV ()
AO0B.1C2D3



